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THE CHEE § HOT AND COLD CUBLS
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. 1t would tell us that they first added 5 cold cubes

These two moves fogether would lower the
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Somefimes, of course, they wanted fo raise or lower the temperature by a large
amount and did not want to toss the cubes into the cauldron one at a fime. In
these cases, they would add or take out bunches of cubes.

toss five bunches of 20 hot cubes into the cauldron, instead of 100 cu
time. This saved a lot of time because they could have assistant chef .
bunching of cubes. When the used bunches, the chefs used o multiplication sign to
record their activity. To show tossing five bunches of 20 hot cubes, they would write

(+5 )(+20) = 100

where the 5 meant five bunches were being added, and the +20 meant that the
were 20 hot cubes in each bunch.

The chefs could also lower the temperature by removing bunches. When they
wrote

(-3)(+5) =-15

the =3 signaled that three bunches were being removed, and the +5 showed that
there were five hot cubes in each bunch.

YOUR ASSIGNMENT

You and your team must decode and re-write the
chefs notations, so that chefs all around the world
can create the same delicious concoctions.

Complete Parts 1 and 2 on the next page, and be
prepared to present your findings to a committee
of other chefs.




PART 1

Each of the following represents an action taken by the chefs. Write an eguation to
describe the action and result. Be sure to include the final temperature after each action.

Three cold cubes were added and 5 hot cubes were added.

Five hot cubes were added and four cold cubes were removed.

N

W

Seventeen cold cubes were added and nine hot cubes were removed.

4, Two bunches of six cold cubes were each added.

wn

Seven bunches of four hot cubes were removed.

Three bunches of six cold cubes were removed.

O~
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Nine bunches of three cold cubes were added, then eight hot cubes were removed.

8. Ten bunches of four hot cubes were removed, then seven more hot cubes were
removed.

PART 2

Describe in words how many of what kinds of cubes the chefs added or removed in each
action. Then state how the temperature would change overall.

1. +4-(-3) =
2. -6+ (-4) =
3. [-10)(-5) =
4. (+4)(-8] =
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